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SECTION A: MULTIPLE-CHOICE QUESTIONS

This section consists of 40 multiple choice questions. Use the mark-reading sheet
provided to indicate your answers.

1 Indicate the correct statement

1 All events have a probability between 0 and 1

2 The most widely used measure of central tendency Is the varnance

3 When the probabilities of all the possible outcomes are exactly the same, the mean
and the expected value will differ

4 If all possible outcomes of an event are known, a probability distribution can be
developed

2 The following share prices of ABC Company over the past five months were taken from
the business section of a newspaper

March R23 50
April R24 00
May R24 20
June R24 50
July R25 10

The squared deviation for June I1s

02400
0 0576
0 3450
0 5700

BWN -

3 Changes in the taxation policy of the government may be considered to be a sk to
business organisations

1 systematic core business

2 Iincidental business

3 fundamental downside

4 unsystematic core business

4 Political unrests in a country can be classified as
1 particular external downside risk
2 incidental business nisk

3 fundamental external downside risk
4 operational nsk
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5 The nisk of a negative variation in the value of financial instruments owing to market

changes is referred to as

investment rnisk
credit nsk
hquidity nisk
interest rate risk

BWN =

6 Which of the following is/are perils associated with a motor fleet?

fire

worn tyres

theft

wet road conditions

O oo

Choose the correct combination

1 all of the above

2 ac
3 conly
4 acd

7 Assume a person driving under the influence of alcohol causes an accident resulting

In injurnies and damages Under this scenario

the accident 1s considered to be a peril

BWN =

the accident 1s considered to be a hazard
8 Core business risk of a retaif organisation includes

resource risks
sales vanability
market nsks
currency nsks

oo oo

Choose the correct combination

a,b,cd
abd
cd

ab

BN

dniving under the influence 1s considered to be a risk

dniving under the influence I1s considered to be a peril
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Which of the following are imitations of the Companies Act 61 of 1973, in terms of the
requirements of good corporate governance?

a

b

c
d

It does not address the accountability and responsibility of the enterprise to its
stakeholders

It makes provision for financial reporting only and not for environmental and
soclal matters

it regulates non audit services such as consulting with auditors

It 1s difficult to monitor the dealings of the board of directors despite the fact that
the legisiation on corporate governance is quite extensive

Choose the correct combination

1
2
3
4

a,b,cd
acd
b.cd
a,bd

Charactenstics of good corporate governance include

a
b
c
d

transparency

dependence

discipline

environmental responsibility

Choose the correct combination.

1
2
3
4

a,b,c.d
acd
b,cd
a,b,d

The traditional approach to nsk management

B WN -

made extensive use of insurance and derivates
adopted a comprehensive approach to managing nsks
Integrated the efforts of operations and risk managers
viewed risk management as part of everyone’s job

The roles of the chief executive officer (CEO) in terms of the genenc organisational
oversight model include

a
b
c

defining the enterprise’s risk prionties

arbitrating /resolving conflicts between the different role players in the enterprise
aligning the nsk management objectives and policies with the enterprise’s
objectives and policies

managing selected risks
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Choose the correct combination

1
2
3
4

ab,cd
b,c.d
ab,c
a,c,d

13 The implementation of ERM in organisations 1s hampered by

14

oo o0

strong existing nsk cultures
insufficient reporting structures
technology

improper yarsticks

Choose the correct combination

BWN -

abec
b,cd
acd
a,b,c,d

Alternative nsk transfer techniques (ART)

a

Involve the transfer of nsk to capital markets

b give investment banks a new field of activities
¢ create opportunities for nonfinancial enterprises to transfer sk at lower cost
d providing iInsurance companies with an extension of their capacity base

Choose the correct combination

1
2
3
4

a,b,c
b,cd
a,cd
ab.cd

15 Enterprise nsk management is characternsed by

16

BN A

B WN -

narrow focus on hazard nisks

a comprehensive, inclusive and proactive approach to sk management
a functional approach to risk management responsibilities

lack of consistency in terms of level of detail and reporting formats

Is an underlying factor of operational nisk
System risk
Interest rate increases

Political nsk
Customer default
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Risk management objectives can be classified as

a Operational objectives
b Reporting objectives
¢ Strategic objectives
d Comphance objectives

Choose the correct combination.

ab,cd
a,b,c
a,bd
b,c,d

BWN -

Enterprise Risk Management

focuses exclustvely on upside nsks

focuses on tangible and intangible assets

I1s embedded In the processes and structures of the enterpnse
IS a reactive approach to nsk management

Qo oco

Choose the correct combination.

a,b,c.d
ab,c
ab,d
b,c

BN -

The standard dewviation I1s

a measure of central tendency

a measure of dispersion around the expected value

obtained by multiplying each outcome by the probabihty of its occurrence
the vanance expressed as a percentage of the mean

BWON =

Indicate the correct statement

—

Risk evaluation 1s the starting point of the nsk management process

2 Organisational charts serve to identify nisks in the external and internal enterpnse
environment

3 The main objective of a physical inspection for the purpose of risk evaluation i1s to
identify vulnerable loss-producing situations

4 By studying flow charts, the nsk manager will be able to assess the extent to

which control 1s centralised or decentralised
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Which of the following 1s a scientifically proven risk identification techmque?

a Quality assurance
b Fault tree analysis
¢ Statutory record analysis
d Computer nsk survey

An example of a procedural nsk control measure I1s

defensive driving training
first aid training

stand-by equipment
stock control

BWN —~

Mzans: Enterprises suffers a loss every four years the average value of these losses
1Is R1 000 000 The probability that the organisation will suffer a loss of R1 000 000
during the financial year 1s

0,10
0,20
025
0,40

WM

Damage caused by flood or fire 1s a type two loss of nisk characterised by

high frequency and high severity
high frequency and low severity
low frequency and high severity
low frequency and low seventy

BN

External downside rnisks include

systems failure

labour actions

currency movements

changes in consumer demands

BWN -~

Indicate the correct statement

Risk managers use insurance reviews to counter risk exposure
The price of a stock Is inversely related to the market rate

The long buyer expects the price of the asset to fall

A short position entails the buying and keeping of an asset

BWON =
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Indicate the correct statement

1 European options can be exercised at any time the holder wishes, until the
expiry date

2  European options can be exercised on the expiry date only

3  American options can be exercised on the expiry date only

4  Both American and European options can be exercised any time the holder
wishes until the expiry date

A participant in the market obtains an option to buy an asset at a strnke pnce of
R110,00 The cost (premium) of the option amounts to R3,50 The market price at the
time the option 1s written 1s R105,00 Two months after the option 1s wntten the market
price of the asset increases to R120,00

With regard to the aforementioned scenario, the participant will

exercise the option and make a profit of R8,50

exercise the option and make a profit of R6,50

walk away from the option and lose the premium of R3 50

walk away from the option and buy the asset at a lower price on the market

BN =

Indicate the correct statement

1 Swaps may be used to increase the effective interest cost of borrowing

2  Parties to interest rate swaps exchange the capital sums involved, adjusted for
the differences in interest rates

3 The result of a swap I1s the swapping of interest obligations as well as the nisk of
Inherent interest rate changes

4  Swaps may be used to decrease the realised yield on an investment

Suppose borrower A can obtain R2 million for ten years at a floating rate of prime plus
0,80% but that he has to pay a fixed rate of 20% on a debenture for the same term
Borrower B, can borrow floating funds at the prime rate and fixed rate funds at 16%
Borrower A and B agree to enter into a swap agreement in which Borrower A agrees
to pay an additional 3% interest premium to Borrower B

With regard to the aforementioned scenario, indicate the correct statement

1 The effective cost of the floating funds of Borrower B 1s reduced by 2,2%

2 The total interest cost of Borrower A will be 16% on the total amount of R2
million

3  Both borrowers gain 1% by entering to the swap agreement

4 Borrower B gamns 3% by entering to the swap agreement
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31 Which of the following are key strategic considerations that need to be evaluated
when determining the nsk appetite for an enterprise?

32

33

34

a
b
c
d

Capital at nsk
Internal constraints
Process

Strategy

Choose the correct combination:

BWON

ab,c
abd
acd
ab,cd

1s an attempt to provide a single number which summarises the total nisk in a

portfolio of financial assets

A WN-=a

Cash flow at nsk
Risk adjusted return
Earnings at nsk
Value at nsk

The rnisk imit framework of an organisation 1s a combination of its ~ IImits

QO oo

notional
risk-sensitivity
stop-loss/advisory
stress/scenario

Choose the correct combination

HWON -

a,b,c,
b.d

c,d
ab,.cd

The benefits of the monitoring stage in nsk management include

QO oo

developing a more accurate portrait of risk

improving the risk management process as a whole

Increasing the costs associated with redundant risk control measures
accumulating evidence to support assumptions and results of the analysis

Choose the correct combination

o 2N =

ab,cd
ab.c
a,cd
abd
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The continuous improvement philosophy is facilitated by

a  benchmarking of performance to identify best practices
b effective communication

¢  Promoting a supportive work environment

d  reactive decision making

Choose the correct combination

ab,cd
ab,c
a,cd
a,b,d

BN -

Which of the following 1s an example of risk transfer?

1 Insurance

2 Lease agreement
3 Buffer stock

4  Defensive driving

Which of the following guarantees the interest rate on a loan or deposit facility which
will be required on a given future date?

Forward contract

Future contract

Interest rate collar
Forward rate agreement

BWN =

Risk-adjusted return on capital

measures performance, taking into account the risks inherent in a portfolio

2 incorporates the riskiness of business activity into the measurement of the
expected return from that activity

3 strengthens the links between performance, accountability and established risk
thresholds

4  screens capital projects when using discounted cash flow techniques

Indicate the correct statement

1 Aggregation methods provide a qualitative means to transfer, avoid and
securitise rnisk

2 Aggregation I1s a way to summarise an extremely simpie set of rules

3 Risks of which the mutual relationships are not known are pooled in order to
manage them better

4  Aggregation of multiple nsks improves reporting and capital allocation
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40 Indicate the correct statement

It 1s more cost-effective to manage individual rnisks

The transaction cost of pooled nisk i1s higher than that of individual risk
An aggregate index can be used with the hedging of pooled risks

It 1s more cost effective to insure individual than pooled risks

BWN =

[40 X 1 = 40 marks]

[TURN OVER]



12 MNK203R
May/June 2011

SECTION B: PARAGRAPH QUESTIONS AND CALCULATIONS
ANSWER ALL THE QUESTIONS IN THIS SECTION

Question 1 {10 marks)

Assume the following hypothetical distribution of stock losses due to theft for product A of a
small chain of retail stores

AMOUNT OF LOSS PROBABILITY OF OUTCOME
R40 000 050
R50 000 030
R60 000 020

You are required to determine the following variables for the above set of outcomes Show all
calculations.

11  Expected outcome

12 Vanance

13 Standard deviation

[TURN OVER]
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14 Coefficient of vanation

15 Assume that the coefficient of variation of stock losses due to theft for Stock B for the
same retailer 1s 43% Rate the nisk of stock A compared to stock B in terms of losses
due to theft

(5x2=10)
Question 2 (10 marks)

21  Argue the value of good corporate governance to business enterprises (Hint refer
to the four business areas corporate governance might impact on) 4

[TURN OVER]
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22 Define operational nisk and briefly explain people as one of the main underlying risk
factors compnsing operational nsk management 6

(10)
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Question 3 (10 marks)

An organisation uses short-term finance by issuing bankers’ acceptances The treasurer
expects short-term interest rates to rise and wants to hedge the next BA-rollover by
buying a FRA at 15,5% Assume the following applies

Nominal amount R1 000 000
Rollover date 15 August
Settlement date 15 April
Spot rate on 15 August 18,5%
FRA spot (bid/offer) 15,0/15,5%
Number of days in the year 365
3 1 Calculate the cost of 1ssuing the bankers' acceptances 4

[TURN OVER]
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3 2 How much will the company have to receive in order to lock in a discount rate of 15 5%?

33 Calculate the cost of the roll-over to the company (holder of the FRA)

(10)

[3 x 10 = 30 marks]
TOTAL MARKS: 70

©
UNISA 2011
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DO YOUR ROUGH WORK HERE.
NO ROUGH WORK WILL BE MARKED.
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